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$10,000 x 3% = $300
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$10,000 x 9% = $900

$900 x 20% = $180 90 HI&]
$900 x 100% = $900 360H[H
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$10,000 x 7% = $700

$700 x 20% = $140 90 HI&
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BREY v (90HRM)
$10,000 x 1% = $100 $9,000 x 70% = $6,300
$100 x 90HE = $9,000 $9,000 x 30% = $2,700 x 32x
(1ISO) x $0.30 = $25,920
WEATarils
&) 50%: $4,500 | -
2 30%:$2,700in BHC $25,920 + $6,300 = $32,220

20% : $1,800 in BNB

OOHMOHmAH . 4BIRF—2 =360HH

$6,300x 4 = $25200 @+ $128,88071 5 $10,000% pR4}
$25,920 x 4 = $103,680 & $118,880 FEFINME
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360HEDAT—F%>7 (RRKEHDARE)

ARHY 2Nz (90HR)
$10,000 x 2% = $200 $40,000 x 70% = $28,000
$200 x 200HRE = $40,000 (200H)
$40,000 x 30% = $12,000 x 32x
IR#= 7 B (1ISO) x $0.30 = $115,200
€ 50% : $20,000 Ve
& 30% :$1,200 in BHC $28,000 + $115,200 =
20% : $8,000 in BNB $143.200

200HHEDRAH . 2B RXFT—2 =3608HH

$28,000 x 2 = $56,000 € + $286,4001" 5 $10,000% R4}
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dAZSaZ=74XA7T—F%>2% $10,000 (RAKHHD2E)

ArHYN &% ) SEVE S

$10,000 x 1% = $100 F — LEREM

$100 x 90HR = $9,000 $10,000 x 1% = $100
$100 x 10% = $10

IR #5457 B $10 x 90HME] = $900

© 50%:$4,500 RS (T2 L)

$ 30%: $2,700 in BHC Salte
20% : $1,800 in BNB $10,000 x 3% x 20% = $60

FEERAY + BN E $9,000 + $900 + $60 = $9,960
ey aNily $9,960 x 70% = $6,972 (90HR)

$9,960 x 30% = $2,988 x 32x (ISO) x $0.30 = $28,684

4RIV 90 H R $6,972 + $28,684 = $35,656

OOHRBOHZAH . 4BlRF—2 =360HH

$6,972 x 4 = $27,888 & +
$28,684 x 4 = $114,736 S
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$142,624H* 5 $10,000% PR}
" $132,624  FAnsfE
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i RE A [ EVE S

$10,000 x 2% = $200 F — LEREM

$200 x 18OHR] = $36,000 $10,000 x 2% = $200
$200 x 10% = $20

IR #5457 B $20 x 18OHE = $3,600

© 50% : $18,000 IS (7221 L)

© 30%: $10,800 in BHC ’ g
20% : $7.900 in BNB $10,000 x 3% x 100% = $300

RORRAY + BRI $36,000 + $3,000 + $300 = $39,900
IN2E 43 ER $39,900 x 70% = $27,930 (18OHM)

$39,900 x 30% = $11,970 x 32x (ISO) x $0.30 = $114,912

ol & 90 H $27,930 + $114,912 = $142,842

1SOHBDRAEH. 2BlXF—2 = 3608

$27930 x 2 = $55,860 € + $285,684H' 5 $10,0007% [R5}

$114,912 x 2 = $229,824 ©& - $275,684 FEF)271E
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ArHYN &% ) SEVE S

$10,000 x 1% = $100 F — LEREM

$100 x 90H = $9,000 $10,000 x 1% = $100
$100 x 30% = $30

IR #5457 B $30 x 90H = $2,700

© 50%: $4,500 #ENS (D)

& 30% :$2,700 BHCT 610000 x 7% x 20% < $140
20% : $1,800 BNB T ,000 x 7% x 20% =

%E%ﬁg% $9,000 + $2,700 + $140 = $11,840

V% $11,840 x 70% = $8,288 (90H)

7B $11,840 x 30% = $3,552 x 321Z (ISO) x $0.30 = $34,099
"S%”éé $8,288 + $34,099 = $42,387

OOHFRAHE . XT—241& =360H

$8,288 x 4= $33152 @+
$34,099 x 4 = $136,396 ©
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" $159,548  &#lefE
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A a=7T14 XAT7—*F>27 $10,000 (RAH 7412

i RE A [ EVE S

$10,000 x 2% = $200 F — LEREM

$200 x 150H = $30,000 $10,000 x 2% = $200
$200 x 30% = $60

IR #5457 B $60 x 150H = $9,000

© 50%: $15,000 BEhe (ERD)

& 30% :$9,000 BHCT 10000 x 7% 2 100% = $700
20% : $6,000 BNBT ,000 x 7% x 100% =

HOEHHY + $30,000 + $9.000 + $700 = $39 700

BRIV ZS ' ' - '

2 $39,700 x 70% = $27,790 (1508)

valiw $39,700 x 30% = $11,910 x 321= (ISO) x $0.30 = $114,336
g%%ﬁ $27.790 + $114,336 = $142.126

150HRAFTL v, XATF—22{E = 300H

$27790 x 2 = $55,280 € + $284,252 $10,000% B}

$114,336 x 2= $228,672 ©& o $274,252 FEF)281E

HIDNATV) Yy RRATF=TNAL 12T FTIYy T F—L



4TISO: A —2U 2 +ISOX N =X L

e_

100%

AF—%2Y | —

S NT

10% + 90%

BRIGHTHUB

> 9
50%

7—E b

F7—

2R

30%
ISO

20%
100015
ooyl

- £

ISOHARS ISORTY
) /N::
Initial O 100
Split T 1000
. 0.6 10,000
Offering o 2 - 13,
> 0.2 |- (= | e #A MEXC Global
0.0 (Gateio
A9 @
>

3

IDNA TV Yy RFRTF=TNAA 12T FT Iy T x—L



IONALT )Yy RRAT=NAA 1275 T5v 8T x—L14

BrightHub
HOHPESTIVET -

@ BRIGHTHUB FEEERE FEAOXF—TINaACY U—Fqrootaa




